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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

T Aigel/ TR o S U § | U Teh H 9/ 79 iR 9T
o o ute g ¥

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uk ' Jehfeush’’ TR T § fIEeh it 3 40 € qe
YRT &1 AT '’ TR 1 & 3T 59 Fel 37k 60 T |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only, supplied with the Question Paper, as per the
instructions contained therein. PART ONE is NOT to be
answered in the answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HIT Weh / PART ONE

(T U9 o ST S |/Answer all the questions.)

1.1

1.2

ol Uik W9 o ST oh kg [olohed 1QU T

T T wad Suged fashew o 30X 39

Y9-U o WY SUTl Shdld T SfuHeTe’

I-UAk §, 3AH fou e fdelt & orEn,

Sad

Each question below gives a multiple

choice of answers. Choose the most

appropriate one and enter in the “OMR”

answer sheet supplied with the question

paper, following instructions therein.
(1x10=10)

frafafad # 9 #9-91 €S FI™ & g

TRIRT foRa ST AT Hiee 2

(A) printf

(B) external

(C) auto

(D) scanf

Which of the following is a keyword used

for a storage class ?

(A) printf

(B) external

(C) auto

(D) scanf

Frefafed o 9 werEl & ffe @ o1 94w
Thet o0t 3T/ 37 < fere fopa e @ 2

(A) getchar() 3R putchar()

(B) scanf() 3IR printf()

(C) input() 3R output()

(D) SR H A e T

Which pair of functions below are used
for single character 1/O ?

(A) getchar() and putchar()
(B) scanf() and printf()

(C) input() and output()
(D) None of these

1.3 fr=fafed dom @t emeeqe g ?

void main(){
char*p="Hello world";
int*q;

ptt;

q = (int*)p;
qt++;
printf("\n%s\n%s",p,q); }
(A) ello world
Ello world
(B) Compiler error
(©) lo world
lo world
(D) ello world
world
What is the output of below program ?
void main(){
char*p="Hello world";
int*q;

ptt;

q = (int*)p;
q++;
printf("\n%s\n%s",p,q); }
(A) ello world

Ello world
(B) Compiler error
(©) 1o world
lo world

(D) ello world

world
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1.4

1.5

1.6

1.7

frfafad § & &1 91 Ther $21 TR § 2
(4) R

(B) AT

© ®

(D) foiere foree

Which of the following is a Scalar Data

type ?

(A) Float

(B) Union

(C) Array

(D) Linked list

C ¥ TS wigall § wnfhet B €
(A) HHEE hHISH

(B) TIEoRI TheRTH

(C) C U= sl ¥ G
(D) ThrEal o forg sffavex

A) Compiler commands

B) Library functions

C) Header information of C programs
D) Operator for files

TS G&AT 12 &l A & T =
g?

(A) 1100 (B) 1010

(C) 1001 (D) 1110

What is the binary number equivalent of
the decimal number 12 ?

(A) 1100 (B) 1010
(C) 1001 (D) 1110
qiged E

A) 3fESR € gHR

B) YRR T2 YER

(C) 3ITHIETE 3fesi €21 YR

(D) W H § FIE Tl

Pointers are of :
)

o
A) integer data type

B) character data type
©)

(
(

g 0

(
(
(
(

1.8

1.9

1.10

C # 4fe &y wh W A TH HewE F fou
3THS o &I H I &, ardfaesh &1 H F
9 B & 2

(A) W H ufaded o °H

(B) W I yoH Tferde

(C) W 98 TgH

(D) T o sifam Tferde w1 wgH

In C, if you pass an array as an argument
to a function, what actually passed ?

(A) Value of elements in array

(B) First element of the array
(C) Base address of the array
(D) Address of the last element of array

frefafed § 9 sF-91 fopen() WHS C |
ey g2

(A) fp = fopen("abc.txt", "r'");

(B) fp = fopen('c:/userl/abc.txt", "w");
(C) fp = fopen("abc", "W");

(D) ST H ¥ g Tl

Which of the following fopen() statements
is illegal in C ?

(A) fp = fopen("abc.txt", "r");
(B) fp = fopen('c:/userl/abc.txt", "w");
(©)

(D)

fp = fopen("abc", "w");

none of the mentioned

fr=fafaa § 9 ®HA-91 C s § e T8l
7?2

(A) (B)
©) (D)

Which one of the following is not a
keyword in C language ?

endl
switch

main
float

unsigned integer data types (A) main (B) endl
D) none of these (©) float (D) switch
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

<ot feam e welek faeror o ot w@ ¥ sterEr
e | Ueh Had SUIe faehed 9 3 59
Y9I ok W1l SUSTE] ahildl T ' 3TTTHAR '
IAE-UA |, 3 feu e fEe o oTEN,
T AL (1x10=10)

ﬁ\3~(inta[5]7=h'[‘<s"‘3|'€I3FT3'{:|'ﬁf‘3ﬁ?[<_>|'Usfa,b,c,d
R e HUE FW & fAU foman s gehan B
C A A H HIEshER RIS 3ATH
Jua.u, H fesmed iR fasfad =t 7 of |

Teh do-while construct T gfqee sifyeafaa
I &¢I h A1E Teh UHIhICH T ST =18 |

T erfyeafaq T wafa Seid e R
Gl TR, THe main() %R @d: feameH

Tel LA, ITeh! HITAT HeR[ i STIIhdl
B g |

main()wq%mﬁwﬁaaﬁaaﬁwﬁ
T T

Teh T 3T Te o ©9 H W TFR e
L HehdT |

Tiged 2 Uiged Teh 2H ¢ foreent T 3 ufsed
%1 U I o fore foman s © ek shded
TE WIS H TSH B & |

Cﬁ, sucat()@WW%WWa
g™ 1 goiterg 1 & fag fman < 7

2.10 C Y H qafifa AshE & 99 printf

TEHE 1 YA ek e ha T Tehd B

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and ENTER in the “OMR” answer sheet
supplied with the question paper,
following instructions therein.

(1x10=10)

Array int a[5] can be used to store five
character a, b, ¢, d and e into it.

C language was initially designed and
developed at Microsoft Corporation of
USA.

A semicolon must be placed after closing
the conditional expression in a do-while
construct.

Ternary expression is a selective control
construct.

All the functions, except main() function
do not execute on their own, they require
a calling function.

Recursive call is not allowed for main()
function.

A structure cannot contain the structure
itself as its member.

Pointers to pointers is a term used to
describe pointers whose contents are the
address of another pointer.

In C, there is a function name strcat() used
to concatenate two strings.

2.10 Values of predefined macros can be

printed using printf statement in C
program.
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3. whiem X U fou U vred) iR amert Rt faers shietd Y § fou u frehean wwsifia stef / vl /
areril | i | 31U faehed wvA-us & Ay feu Tr ¢ sfiuHeit ! Se-useh W, e fau e argeei

T UTT hid gU, TS i | (1x10=10)
X Y
3.1 [T %R 9 A199 hifclT HeRM &l sheldl 3akd o | A. | fseek()
Ty e ST aren see
3.2 [T U H 3Tl SSWM Toh S o foTQ 9amT feran SH amenm | B, | malloc()
wehe
3.3 |faffde s fooer =3 & fau v fovan 9 aren C. | faa-+g &g
GLEENRENE!
3.4 R RewEe Al 1 T & fha D. | T sheld
ST SR |
3.5 |TheR Sl STrefed Yl § iR oTeifed FHRT &l feer E. | smiHe
E2GIR
3.6 |AfC SR 3T if-else THETH AN Al &, o F. | fflush()
YT SR Swrff-ad sl ST Fehelt € |
3.7 |U& HUS Fl S TE FIA BT S G. |for(;;)
3.8 |ThaRM ST BRI STEfed il § Wi stefed HHRT H. | fed
! foemr 1 o §
3.9 |HEd UiEel & Hao o fore FErT o S aren I | &fey
TheRT
3.10 | afg STt T 3T HIE ek & WeHe & a1 STHH T J. | 9%
K. | main()
L. | EFR
M. | calloc()
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3.  Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s)
in column Y. Enter your selection in the “OMR” answer sheet supplied with the question

paper, following instructions therein. (1x10=10)
X Y
3.1 | Keyword used to transfer control from a function fseek()
back to the calling function
3.2 | Statement used to go to the next iteration in a loop malloc()
3.3 | Library function used to clear the specified buffer switch-case control
3.4 | Relational operators cannot be used on loops control
3.5 | Function that allocate and clear allocated memory argument
3.6 | If you have to use many if-else conditions, they can be fflush()
usually implemented by
3.7 | A piece of information passed to a method for(;;)
3.8 | Function that allocates memory but does not clear return
allocated memory
3.9 | Function used for file pointer movement continue
3.10| Unending loop if no break statement inside the body break
main()
structure
calloc()
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4. 9 U 9 B A & TE Gt 9 Ueh 9IeE A1 919 hi faeH & forg Raa e ¥ wew
IugE faehed T 31N S8 YyA-u o e feu e ofiume R Se-ueek H, 3aH fau T e
% AR, TSI hi |

A.

TEY

sizeof

null

D.

e

THtehie™

G.

L

T

(1x10=10)

4.1

4.2

4.3

4.4

4.5

4.6

4.7

4.8

4.9

4.10 HEHA AW (7)) Th _

J. | &R K. | Tl g 9iEX L. | Y®"

Dy

M. | getch()

C s rnfHT % o Suge T

T+ TR FTTE 1 ITAN BEA H 9t GaRFl i SIHERT & foaly, Tefee aRusa
Hiferd e o ferg femen ST Hehan ®1

TR ST TN Uk Tehel a0 ohl Ue o foTu foharm < Tehar © |
TR "++" 3R &% €I H ST 9T €

AT T FIANT Teh YU & o6 & SRA Afueed o1 faeial 9 & 39
T 3TMeifed e o foaq foran S Herdr B

Th IRuse T Hohdesh i 3R Hohd Il T
T A e JhR ol SR & % &9 H =iftd fopan S

Teoh e WIeIeEy gHIm Hohd R THI Bl ¢ |

el Uoh WFR Teh G i FdRa fopan S 8, a9 I8 & T G SR g

e |
AT R
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list
below. Choose the most appropriate option, enter your choice in the “OMR” answer
sheet supplied with the question paper, following instructions therein. (1x10=10)
A. |Ternary B. |sizeof C. |null
D. |void E. |semicolon F. |#

G. |increment H. |extern I static
J. structure K. | pointer to pointer L. |reference
M. | getch()

4.1 C language is well suited for programming.

4.2 An storage class can be used to declare global variable known to all the functions
in the file.

4.3 function can be used to read a single character.

4.4 The operator "++"is known as operator.

4.5 The operator can be used to allocate memory space dynamically to variables
during execution of a program.

4.6 A variable points to another pointer.

4.7 A function with no return type is declared as

4.8 A function prototype is always terminated by sign.

4.9 When a structure is passed to a function, then it should pass by

4.10 The conditional operator (?:) is a operator.
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W & / PART TWO

(frdiamusi s ST 1/

Answer any FOUR questions.)

5. (a)

W-TEE o9 9 379 = e § 2
G fafi= AT o A9 =T 37 SR
ST Y |

CH BRME & oY Jad | 1Y &
n F@msl & 1D W g&d = §9en
A L & fau T e fod |

RerfEa oM #a1 § 7 3ok 01 3R I
TAC | WY 2 R 1 TR A g
T G& & S i AT & foag
T C g ford |

What do you mean by pre-processor
directives ? List and explain its
different categories.

List out the advantages of functions
in C. Also write a function to find
second largest number from 1D
array of n numbers.

What is the recursive function ? List
out their merits and demerits. Also
write a C program to calculate

it e §RI $TYE ohl g5 quHaid Al
F FHMIR SR §&A gfad & &
ToTT e T WERT Sld U Teh C T
ford |

TN | 37 &1 GHed €7 o9k
3T, < Hfge % U I F1d HA F
foru etemiftem o |

frefafed o sfte fat = :

(i) R IR IR e =

(i) arafas R AR =i
LRUEI ey

Write a C Program using function to
print equivalent binary number of
decimal number input by keyboard.

What do you mean by algorithm ?
Also write the algorithm to find
multiplication of two matrices.

Differentiate between the

following :

(@) Function definition and
function declaration

factorial of a number using (i) Actual parameter and formal
recursion. (5+5+5=15) parameter (5+5+5=15)
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11 sr1 fawys= 1 9 100 & <=9 9+
FeeT w1 gfgd IR A wH & fae
Teh C 9 ford |

‘o 9 97y IR U 9 TR &
o9 1 AR T, I & T &I ?

areerE Aftuad &1 99 foRd fom
T & Ml 1 @Y HH & o uh
C 9 ferd |

Write a C Program to print and
count all numbers between 1 to 100
divisible by 11.

What is difference between pass by
value and pass by reference with
example ?

Write a C program to swap values
of two variables without using
temporary variable. (5+5+5=15)

T EEA I AT S T EEA H
Hd F & AT TR ‘C AES T
ford |

FHHIE TEH SWHE FM T ? ‘C’ UMW &
e 9 SR S |

‘qigey T TR’ ¥ STY R TER © 2
Teh 3STEL01 o W1 U SANRAT Tl 2

Write a C language program to copy
the contents of one file to another
file.

What is command line argument ?
Give example through ‘C’ program.

What do you understand by “pointer
to function” ? Explain it using an
example. (5+5+5=15)

fofere foree 9§ 319 o1 woeE €2 foiare
for= 9 s foum feafa & Aie = fiaem
& faw C ¥ s %R foad |
‘T-=EA U’ IR ‘=A@’ F 9=
Y% & U T SR & 91y 3R
A |

What do you mean by linked list ?
Write a function in C to delete anode

at particular position from linked
list.

Differentiate between do-while loop
and while loop with the help of one
example for each.

(10+5=15)

-000-
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